All Transformations Note Sheet

J(x)=a|b(x—h)+k

g(x)=a-(b(x-h) +k
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Writing Equations Given Transformations

Parent Function

y=|x

/(%)

Translations
-Left 2 units
-Down 3 units

Reflection across the
X-axis

Reflection across the
y-axis

Vertical Dilation by
a factor of 4

Horizontal Dilation
by a factor of 3
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5. Write the equation of the graph given the transformations.
a. the graph f(x) = x* moved up 2 and vertically dilated by 5

b. the graph f(x) moved left 4, horizontally dilated by 3 and reflected over the x-axis

c. the graph of f(x) = lxl reflected over the y-axis, moved down 4 and vertically dilated by %

Given the graphs list the transformations & find the equation.
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